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SCIENCE Primary 3

PART |

4 groups

grain group

cola

recycling garbage

water

Pasta is in the grain group.

No, it doesn’t.
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This decument is designed only for EIS student:

. 9 groups

protein group

candies

deforestation

. grain

Pasta is in the protein group.

. Yes, they will.

I will ride a bicycle to keep the air clean.

C. It is the cycle metamorphosis.

. I will drive a car to keep the air clean.
C. I will burn garbage to keep the air clean.

. It is the complete metamorphosis.

B. It is the incomplete metamorphosis.

A. The chick will grow up into the adult.
. The chick will grow up into the hen.
C. The chick will grow up into the butterfly.

Please do not copy or share in the public.

C. 6 groups

]

. dairy group

C. salad

C. using the electric car

C. carbon dioxide

o

Pasta is in the dairy group.

C. Yes, it does.
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12.

A.
13.

A.
M.

A.
5.

A.
PART 4
16.

A. wood B. food C. boot
17.

A. solutien B. pollution C. polluted
18.

A. many B. baby C. dairy
19.

A. circle B. cycle C. angle
20.

A. wind B. bin C.in
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